












































































































Let f x x 3

g x 2x

h x
2

Find f z gcs h d

f 2 21 3 g z 2 3 h Q 42
f 23 5 g z 6 h 4 16

Find fgCx gh x hf

f gcse f 2x 2x t 3

ghCx gcse 2 2

hfCx h xt3 at 3
2

Find fgLGc hfgCx ghfCx

fgh x fgGi f 2 2 2 2 3

hfgc.cl ht 2x h 2 3 2 35
ghfGc gh xt3 g acts 26 35

Composite Functions















































































































X 4 1 0

3
4 1

x fax 1

Inti 3142cm I

2C 2

2 3 4 2 I I 913

3 3 4 1.913 I I 881

4 3 4 1.881 I I 868

5 14 1.868 i 1.864

6 14 1.864 I I 862

x 1.86 to 2 d p

Iteration














































































































Ex2 x I 6 0

I G x

Ix 6 x

htt Jx 6

2C Z

X 123 6 1.414

X 11.4143 6 no solution

Try another rearrangement

of 6 0

3 22 6

x 31 2 6

Intl 3 un't G

X 2

Xz 3 22 6 i 2.154

3 3 2.1542 6 i 2.199

Ka 3 2.1992 6 2 213

5 312.2132 6 2.217














































































































6 3 2.2172 t G 2 218

x 2.22 to 2 d p

Ex3 3 5 4 0

JC t 5x 4

x sets 4

x 4
x 2 5

4Intl
x I 5

Xo O

4
X O 8

02 5

4
2 0.82 5 O 7092

4
Kg

0 70
2
5

0 7269

4
Kg

0 7265 5
O 7235












Show that the equation
X 5 4 0 has a solution between

c 0 a d x l

x O 03 5 o 4 4

X I 1 5C t 2

Change in sign between 0 and I

since function is continuous there is a root

between 0 and I

Showing roots between given values


